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% I

@ 1 m = kL
@ 1 cm = kL
@ 10 m = cm
@ 3 cm = L
® 12 L = m
© 91 m = dL
M 93 m = mL
® 16 mL = cm
@ 1 kL = dL
a6 m = kL
an 4 kL = m
a1 L = mL
(13 31 db = L
(4 3 kL = L
a5 1 mL = m

H B

an 1 kL
(18 13 cm
(9 12 mL
o 1 L
en 15 do
@ 4 om
@2 1 om
) 85 m
@ 15 L
@ 1 mL
en 77 do
8 3 mL
©» 9 dL
@ 2 db
@H 10 kL
G 11 L
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™ 1T m = 1
@ 1 cm = 0.000001
@ 10 m = 10000000
@ 3 cm = 0.003
® 12 L = 0.012
© 91 m = 910000
M 93 m = 93000000
® 16 mL = 16
@ 1 kL - 10000
1o 6 m = 6
an 4 kL = 4
a1 L = 1000
(13 31 dL = 3.1
(a9 3 kL - 3000
15 1 mL = 0.000001
(1) 1 kL = 1000000
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